Lo RhyT

R. 074%F08 H06H

ouT IN Gross Hdcp Net
i #2 &% 39 39 6.0 33.0
B KR 49 49 144 346
3 FEE EEAER 42 42 1.2 348
4 BEE =i 46, 46 108 35.2
[5i1] &= Fs 44 44 84 356
6 INK FYF 47 47 108 36.2
7 HE BE 40 40 3.6 364
8 FHxE BB 38 38 1.2 36.8
9 M RE 44 44 1.2 36.8
[101Z] #E F= 43 43 6.0 370
11 A i — 42 42 48 37.2
12 A (&— 46 46 84 37.6
13 FEE & 44 44 6.0 38.0
14 $E7I< (=4 48 48 96 384
[151i] 2@ A 41 41 24 38.6
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R. 07408 H06H

ouT IN Gross ~ Hdcp Net
16 Ak 1Eis " o4 204 13.2 40.8
17 | EWl #E . 53 53 9.6 434
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